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Circle Theorems 6
Do Now:
Complete the first 5 circle theorems and illustrate 
1. Every angle at the circumference of a semicircle that is subtended by the diameter of the semicircle is a ________________

2. The angle subtended from an arc to the centre is ___________ the angle subtended from the arc to the circumference.


3. The Angles subtended at the circumference in the same segment of a circle are ___________



4. Opposite angles in a cyclic quadrilateral add to ________


5. A tangent to a circle is perpendicular to the ___________ at the point of contact.



Learning objective: To apply the tangent circle theorems

Circle theorem 6:









Circle theorem 7:









Circle theorem 8:








Practice:
In each question find the value of the missing angles and explain your answer
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	In the diagram, O is the centre of the circle and AD is a tangent to the circle at B.
Explain why BCD is isosceles.
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	The diagram shows a circle with centre O.
The circle fits exactly in an equilateral triangle.
The radius of the circle in 6cm
Calculate the perimeter of the triangle
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